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SK1. ½ÂN�σµR2 7→ R3 x1

x2

 7→


x1 +x2

x2 −2x1

x2


(1)�yN�σ´�5N�¶

(2)¦σ3IOÄe�Ý
 A¶

(3)¦Ker(σ)§ Im(σ)±9§���ê¶

SK2. éu?¿�ü�m ×n�Ý
 AÚB§y²

Rank (A+B)6Rank(A)+Rank(B).

SK3. eÝ
 A =


5 7 −3 −4

7 6 −4 −5

6 4 −3 −2

8 5 −6 −1

§Ý
B =


1 2 3 4

2 3 4 5

1 3 5 7

2 4 6 8

§O�e¦Èµ
(1) A ·B¶

(2) B · A¶

SK4. |^êÆ8B{y²:
1 a c

0 1 b

0 0 1


m

=


1 ma m(m−1)

2 ab +mc

0 1 mb

0 0 1


SK5. ·�¡Ý
 A =

(
ai , j

)
n×n
�é����Ú a11 + a22 + ·+ ann�Ý
 A�,§P

� Trace(A)"� A§ B�ü� n ×n�Ý
§y²µ Trace(AB) = Trace(B A)"

1


